Самостоятельная работа
( 6 кл. Виленкин Н.Я.)

Вариант – 1

1. Выполните действие:

    а) 
[image: image1.wmf]16

5

 + 
[image: image2.wmf]12

11

;   б) 
[image: image3.wmf]3

2

 - 0,5 .

2. Найдите значение выражения:

    
[image: image4.wmf]15

7

 - 
[image: image5.wmf]6

1

 - 
[image: image6.wmf]10

1

.
3. Решите уравнение:

    х - 
[image: image7.wmf]8

7

 = 
[image: image8.wmf]12

11

.

Самостоятельная работа

( 6 кл. Виленкин Н.Я.)

Вариант – 1

1. Выполните действие:

    а) 
[image: image9.wmf]16
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 + 
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;   б) 
[image: image11.wmf]3

2
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2. Найдите значение выражения:

    
[image: image12.wmf]15
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 - 
[image: image13.wmf]6
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[image: image14.wmf]10

1

.

3. Решите уравнение:

    х - 
[image: image15.wmf]8
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[image: image16.wmf]12
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.

Самостоятельная работа

( 6 кл. Виленкин Н.Я.)

Вариант – 1

1. Выполните действие:

    а) 
[image: image17.wmf]16

5

 + 
[image: image18.wmf]12
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;   б) 
[image: image19.wmf]3

2

 - 0,5 .

2. Найдите значение выражения:

    
[image: image20.wmf]15

7

 - 
[image: image21.wmf]6

1
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[image: image22.wmf]10

1

.

3. Решите уравнение:

    х - 
[image: image23.wmf]8

7

 = 
[image: image24.wmf]12
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.

Самостоятельная работа

( 6 кл. Виленкин Н.Я.)

Вариант – 2
1. Выполните действие:

    а) 
[image: image25.wmf]15

7

 + 
[image: image26.wmf]12

7

;    б)
[image: image27.wmf]6

5

 - 0,4 .

2. Найдите значение выражения:

    
[image: image28.wmf]10

9

 - 
[image: image29.wmf]15

7

 - 
[image: image30.wmf]45

4

.

3. Решите уравнение:

    у - 
[image: image31.wmf]9

4

 = 
[image: image32.wmf]12

5

.
Самостоятельная работа

( 6 кл. Виленкин Н.Я.)

Вариант – 2
1. Выполните действие:

    а) 
[image: image33.wmf]15

7

 + 
[image: image34.wmf]12

7

;    б)
[image: image35.wmf]6

5

 - 0,4 .

2. Найдите значение выражения:

    
[image: image36.wmf]10

9

 - 
[image: image37.wmf]15

7

 - 
[image: image38.wmf]45

4

.

3. Решите уравнение:

    у - 
[image: image39.wmf]9
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[image: image40.wmf]12

5

.

Самостоятельная работа

( 6 кл. Виленкин Н.Я.)

Вариант – 2
1. Выполните действие:

    а) 
[image: image41.wmf]15

7

 + 
[image: image42.wmf]12

7

;    б)
[image: image43.wmf]6
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2. Найдите значение выражения:

    
[image: image44.wmf]10

9

 - 
[image: image45.wmf]15

7

 - 
[image: image46.wmf]45

4

.

3. Решите уравнение:

    у - 
[image: image47.wmf]9

4

 = 
[image: image48.wmf]12

5

.

_1225517744.unknown

_1225518155.unknown

_1225518213.unknown

_1225518424.unknown

_1225518462.unknown

_1225518186.unknown

_1225517928.unknown

_1225518000.unknown

_1225517898.unknown

_1225517579.unknown

_1225517636.unknown

_1225517716.unknown

_1225517606.unknown

_1225517360.unknown

_1225517438.unknown

_1225517326.unknown

